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QUESTION: 86 
Which method can be used to specify a cross domain policy file with a different name 
or file location than the default? 

A. Security.loadPolicyFile
B. URLLoader.load
C. Security.allowDomain
D. ApplicationDomain.getDefinition

Answer: A 

QUESTION: 87 
You want to take advantage of hardware acceleration while using fullscreen mode for 
video Which statement about hardware acceleration is true? 

A. Hardware acceleration works only on Windows 7 and Snow Leopard
B. They must have a DirectX 7 compatible video card with 4MB or more of Ram
C. The fullScreenTakeOver property must be set to false to allow it
D. All machines can now take advantage of hardware acceleration

Answer: B 

QUESTION: 88 
You want to use hardware acceleration during Flash's full screen mode. What must 
you do before entering full screen mode? 

A. Set the stage's fullScreenSourceRect property to a Rectangle defining the area to
show as full screen
B. Set the stage's displayState property to 
StageDisplayState.FULL_SCREEN_INTERACTIVE 
C. Set the stage's quality property to StageQuality.BEST
D. Set the Capabilities class' hasScreenBroadcast property to true.

Answer: A 

QUESTION: 89 

Which scale mode will allow an SWF to scale without distorting the aspect ratio? 
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A. Exact fit 
B. Show all 
C. No scale 
D. Maintain 

Answer: B 

QUESTION: 90 

Which statement about Motion Presets is true?
 

A. They can only be used for x and y movement  
B. They are only supported in Flash Player 10 
C. They are not supported in Flash CS4 
D. They can be exported and shared between users 

Answer: D 

QUESTION: 91 

Click the Exhibit button. 


What are two benefits based on the code sample shown in the exhibit? (Choose two.) 

A. Provides for loosely coupled components 
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B. The clone function allows you to use the constructor multiple times 
C. By extending the Events class, allows the addition of properties 
D. Simplifies the event to give more streamlined 
E. All code relied on is in this one class 

Answer: A, C 

QUESTION: 92 

Which statement about an Interface is true?
 

A. It is where the navigation is located on the stage. 
B. Lists methods and their implementation. 
C. Lists properties available across all classes in a project. 
D. Interfaces are implemented by classes to assure availability of methods 

Answer: D 

QUESTION: 93 

Which statement about an Interface is true?
 

A. To use, you must create an interface for each class 
B. You can use inheritance to define interfaces 
C. Interfaces define methods, properties and their implementation 
D. You instantiate interfaces like you would any other class 

Answer: B 
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